e
Jor
ofm
rio
Ho
>
ox
Pl
(L]
N

(1) 48H|O|X| 3HA = =@ 2A 8~10HM &

CIE

% O7|00M n(4,NA4y) =n(4,)—n(4,N A, “)E 01B5IX| LULCt. 20| O|E 0IB3IX| 41
n(4,N4,)8 T8t A Cf Hol7| HRO|Ch oA ZUHTO0| ZtAITH QI 0|85HK| AQLCH I
7|0l 2= O =2otH A& = AULL.
)

n(4,)8 FotH 22 oAdS OIFLICH AHeH: == 27 YLICh

(2) 205H[0]X| SHY = Yy HA

CIE

(2) 38 Huj o] B 2o AZ FX| PSS L

A B C D
B C A B
CorD AorD BorD A orC

M R 2| 3 Ay o cz'r S017I3t XSEO2 1| Wiy Hojl=
D7} 017k, 1| R} o=

M| g el A

[

2

kA (2)2] SIS 6 2 = 127}X(0|C},

ISHOZ B7t S0{2iLt.

U= HO9 4t

2
=

o, (2)2 HETHO SHA = Sy ol 2
| & (1)2 J&TH0 sigsk= 37HXZ HQst 67tX|0|Ct.

AZH 0711, & ARy 20

g0l C = D7} 7ks6tER 2 < 1 = 27}X|0|C}.

al
x

1



YU NE F20| 2E7t A0 Of2Het 20| +FEL.
(2) & Hmf o] B Yol AE FX %2

A B C D
B D A C
CorD AorC BorD AorB

Ml g el At Fofl CoF S0HE AMSHez F B E0l= AL S07t, Y H o

B7t 80711, M| ¢ Eoll= AISX 22 D7 S0z

M g 2| 2t Bof| C = D7t 7kS08I22 2 x 1 = 27HK|0|Ct,

A OHM Fol A.B.C.D £2=% ZXE & M, (2)2] JETHU A F HH Aol E =
U= 8RY += 97K F (1) TN HSst= 371X Mgt 671X]0|Ch.

2tA (2)2] d=2EM = 6 < 2= 1271X[0|t},

(3) 229H0|X| SH4 = Hm €A

CIE

2. ¥ B, ¥ ES L2 MOR HY 1o} OfE MOZ LY M2 caseS EF0OIAL
M2 OEMZ ATINIE 2411, 2, 3, A2 BHSIEE 5120

v — O
Z ¢l B, W EO| % HO{ZA} 0/210F ¥ B, T ES e 4
A Hat= Ao & #as 917| W20|Lt.
e

mjo

FLHF.I

&= -
1 g A, 2 242 27 12 HIPIE LIOIK| 72, 3,4 5
B SILE 3g + o . 9% EB WY M2 IS 1, LK F
D E | 2438 399 4& 3° =210/0h
c TN 9% B, Moz E , 5o Pus Y 4+
Qe BL $E 4x27=1050/Ct

olof B, 010] ES HS IS HatD Hsts HQO| 4= ((, x 2 =120/},
/\ 2 g9 B, ¥Y EY 22 £t 1, =X 28 aw&xr. ol2fof ¥ B, ¥Y
A ES /3t M3 HEHs B0 4= IHMSS U 4 97| HEO|CH
, el At %11 12 HQSH LIBE| 27 2, 3, 4 5 oS X2 4 Uk
B 9401 €, YO DOll= 242t 24} 1, 25 MBS LIDE| £ 3, 4 5 SIS &
D E | g2t
C ool B, Y% ES Y MZS HHS O, LINK| S MAUSH= A0 4
' S 322 = 120]0}.
Metd @Y B, Y ES 22 MOz A O, 579 FOS AT £ U= ALY H=
12 12 = 1440|C},

YU NE F20| 2Bt A0 Oof2fet 20| +FELL. EE CE CE EE +EoiAH UL



(&S /Al HEX +FHAR)

(1) 157HO|X|

Z={1,2}7} opd Z= {0, 1} QLC}.



